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SECTION - II
MATHEMATICS

26. If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
3) 8 @) 14

27. If L.C.M. of two consecutive even numbers is 312, then what will be the sum
of these two numbers?
(1) 48 (2) 46
(3) 52 4) 50

28.  All points shown on the given number-line are at equal distances.
I(UR) — /(QT) = ?

A S . S S
T T e
8
(1) IRS) (2) XTU)
(3) IQR) ) 15Q)

29. Five years ago, mother’s age was twice her daughter’s age. If the ratio of
their present ages is 11:6, then what will be the difference in their ages
(in years) five years hence.
(1) 20 (2) 25
(3) 30 (4) 35

30, Ifa+b=13and ab = 36 then a? + b2 = 2
(1) 169 (2) 8l
(3) 97 4) 16
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31. Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.
(2) Some rational numbers are integers.
(3) All rational numbers are integers.
(4) Some integers are not whole numbers.

32. Following table shows the subjectwise marks scored by a student in a summative
test. Find the average marks.

Subjects | Marathi Hindi Maths Science | Social Science
Marks 32 36 48 44 40
(1) 40 (2) 38
3) 42 (4) 36
33. In the adjoining figure, P S
. J . s et /A R\ /7’ B\
line AB || line CD and < F >

mZRGC = 50°, then find

mZSFA — mZPEA = 7?

(1) 50° 2) 80°

3) 100° @) 130° c G H Do

3. 4b-2a+5-3b-9+5a—4+3b—2a=2
(1) 4b + 92 — 4 (2) 2a + 4b — 8
(3) a-4b -8 4) a+4b — 8

35. What will be the difference in rupees in the simple interest and the compound
interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?
(1) 125 2) 25
(3) 375 4) 50

SPACE FOR ROUGH WORK
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S0, 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36
05,508, He0s® Sp AB || 3 CD P S
oo MZRGC = 50°, eans <{‘* R\ /7’ E,’>
mZ/SFA — m/PEA = do&? F
(1) 50° (2) 80°
3) 100° 4) 130° O
C G H D

4db - 2a+5 -3b -9 +5a -4 + 3b — 2a = dos?

(1) 4b + 9a — 4 ) 2a + 4b — 8

(3) a—4b -8 4) a+ 4b — 8

Po| B & 5 5880 5,5 5000 crdrone @e0d 2 H0SETen eddy ermsd
Bo00T0 SESGS® B SROMCS0E.

(1) 125 2) 25

(3) 375 @) 50
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a

Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
is 26 kg. If the total weight of Nisha and Fiza is 50 kg., what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28

(3) 30 4) 34

w
.

A work is completed by some workers in a few days. If the number of workers
is made %rd times the original number of workers, then how many times will

be the days required to be increased than the original to complete the same

work?
1 3 @ 1
3 & @ &

38. Length of the longest chord of a circle i1s 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m.?

(1) 2.8 m. (2) 5.6 m.
3) 42 m. (4) 3.5 m.
39 1f 163 = /4% then k = ?
(0 1 (2) 6
3) 12 4) 17
40.  In the adjoining figure, CJEFGH is a rhombus
with diagonal 28cm. and vertices are on the b r
circle with centre ‘O’. Find the area of the
shaded region. O
(1) 56 sq.cm. (2) 112 sq.cm.
(3) 105 sq.cm. (4) 210 sq.cm.
H G

SPACE FOR ROUGH WORK
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(1) 2.8 & (2) 5.6 &
(3) 42 & (4) 3.5 %

0535 160 = /4% 00055 k = does?

() 1 2 6
(3) 12 4 17

05,509, De:06% [JEFGH ossoghes w5got0e308°
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‘O’ ™ o B0 TOH. LoD GO DoDED o

grrio G30E, BTO0 A, $5.20.80. &0 ?

(1) 56 @) 112

3) 105 @) 210 » G
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41. Which of the following two alternatives are perfect cube numbers?
(1) 0.0270 (2) (-0.000625)
(3) (-13.310) (4) 0.0729
42. By how much is the greatest of the following numbers is greater than the
smallest of the given numbers. 1%, %’ll’g’%
5 1
M 17 2 3p
2 1
3 15 @ 2

43.  ‘Diagonals of the
Choose the correct alternative from given options to complete the above statement.
(A) Rectangle
(B) Square
(C) Rhombus
(D) Parallelogram

are perpendicular bisectors of each other.’

(E) Kite
(1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

44. Observe the two planes X and Y shown in the
diagram and select ‘two correct’ statements from
given.

(1) Points F, B and C are belonging to
different planes.
(2) A line is formed where two planes intersect.

(3) Point A, G and E are non-collinear points
lying in the same plane.

(4) Two planes are parallel to each other. v B

SPACE FOR ROUGH WORK
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5 |
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(D) Jsr085 s8otpeso

(E) ™®¢0
(1) 3Bse0 ‘A’ sooomo ‘B’ (2) 3390 ‘B’ sveamn C’
(3) Sse0 ‘B, ‘C’ sooamo ‘B (4) Zseo0 ‘A’, ‘B’ soeoo ‘E

44. 05,509, ‘X oamo Y’ & Bow I8 (BT

0890 808 B Bocwd HOGHS esRen (D&SCeeD)
10890508,

(I) ooy ‘F’, ‘B’ soecsn ‘C’ eo 5,808
PIOBO (DBFOSD Do &R,00.

(2) Bowo woBO HUTEL I5RB PoFODR? B,
S DEE00.

3) ‘A, ‘G’ so0oasn ‘E’ Dososyen e D808
28505 &I, BDoH HoroSen &me,00.

(4) Bowo ISOTO |DHATQO DOR,BO  WSTOGEOM M B
€3700,000.
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45. Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?
(1) 7200 (2) 3450
(3) 6900 (4) 8100

46.  1n the adjoining figure of AEFG, E

point H is the mid-point of the seg FG.
If mZEFH = 45° and

I(EF) = [(EG) = 1042 cm.,

then /(EH) = ? cm.

45°
(1) 102 (2) 10 F H G

(3) 20 4) 202

47. [m+9) (m—-5)] - [(m-8) (m + 4)] =2
() m - 13) 2) (m -53)
(3) (m - 4 (4) (m + 77)

48. Height of the trapezium PQRS
shown in the adjoining figure P S

is 8 cm. seg ST = seg PS and
I(PQ) = I(SR) = 17cm.
Then find the perimeter of & 8 cm. -
[JPQRS in cm. N
(1) 80 (2) 96
Q T R
(3) 88 4) 72

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

DA B0 TR0V [HBE0BE0 SO, 0,065 &%%e% 3750 o, DendS 8ok Saen
E2%0f%n BADS?, B0 THDWDES IV, TIDODED FSDON E0L0D.

(1) 7200 2) 3450
(3) 6900 (4) 8100
05,508, D606 AEFGS?, E

Sarpocso ‘FG’ a3, sogsy ooy ‘H’
&od. asady MLEFH = 45° soeaxo [(EF)
I(EG) = 10y/2 0.8 eonss® I(EH)

= N, 20.957? o
F 45 G
(1) 10y2 (2) 10 H
(3) 20 4) 2042
[((m + 9) (m = 5)] = [(m — 8) (m + 4)] = o5 ?
(1) (Bm — 13) 2) (m - 5)
3) (m - 4)? (4) (m + 77)
5,508, dsoeoa S@Esyeso PQRS
Boos, & 8 2.8, @od. B.po ST = P : S
3.90, I(PQ) = I(SR) = 17 20.%0.
00580 [JPQRS B8, 50680 \,\é‘" 8 cm. +
DR, 0.80. 0.
(1) 80 (2) 96 Q T R

(3) 88 4 72

SPACE FOR ROUGH WORK

0711-Telugu Set-A 17 of 32 P.T.O.

7
S

B\ 8\ 8\ 8.8\ 8\/8.,8\.8./8\

NZMNZANNZ AN AN AN AN AN AN AR N7



THIC HI HI I I I IS IS HIC A
7 Nl N NI N NI NI N\ N\ N N\

49. What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310

(3) 2500 (4) 2705
S I

m B @ L+

¢ 1- @ =F

51.  Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.

(2) Surface area will be 1232 sq.cm.

(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

52. Anjurani weighed an object and noted it’s weight in four different ways as

given below. Which two alternatives from the given, denote the same weight?
(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.
(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.

33. Side of the adjoining square MNOP is
18 cm. Points ‘X’ and ‘Y’ are the midpoints
of the sides MP and NO respectively. Find
the area of the shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.
(3) 81 sq.cm. (4) 243 sq.cm.
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49.

50.

51.

52.

53.

ol 357118 10 Bew S20,5 10000 srdromed 2 ©058000 6 Boo 08 SESG erHo?

(1) 2650 (2) 3310
(3) 2500 (4) 2705
1+P 1—-P

] x [P = ves

m P @ L+
® 1-4 @ LF

a5 fMgo Bws, Bodmen 616 ©.20.8. o, 8 30w SPEPYO 170 BOLSSS fdg0
B8, Ho FFO0E DOVOPOD HYSR DAL 808 30830 9O7

(1) Solme0 2464 5.20.80. €0e00d.

(2) @ozme0 1232 $.20.80. €0twod.

(3) 08 Fgos 2OPS? so Jwen 1848 ©.20.80. HHIHED.

(4) 0658 fdFo Bows, BOPFO0 5o& DD 3L QOLVOD.

0TS &8 AR WMD) E%D A weeord dESveor Eod éméomoaess TR0,
@00 O Bowd HURODOSN 2WHED VOVITHOMP 00072

(1) 12 8w 175 & (. (2) 13 8™ 75 [

3) 121 35"53 e. 75 &sze . (4) 135 ?mgg e. 250 (.

05,5055, Beuio MNOP &3s, goeso 18 20.80.
0. Dot ‘X’ noamd Doty Y eo StHome
gneso MP s0eomo NO o s Hotoen e9000mssd
Ba208085 210 3308, FBoex0 AR, 35.20.80. &0,

(1) 324 2) 162
(3) 81 (4) 243
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54.

5S.

56.

57.

58.

[(16xy+4y2+16x2> L[@t4n]
(16x>—4y?) 1 1(4x=2y)
(H 1 2) 0
(3) 2y + 4x (4) 4x - 2y

A square shaped compound of a temple has side 40m. On each side of the
compound, triangular gardens of side equal to that of the side of the compound
are there. What will be the total cost of 5 rounds of wire fencing for protection

from their outer edges only, for all the gardens, at the rate of Rs. 80 per m

of wire?
(1) < 256000 (2) < 160000
(3) < 512000 (4) < 128000

Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 25 years only,
by how much should the rate of interest needs to be increased?

(1) 8% 2) 5%
3) 3% 4) 2.5%

If (x—y)? = 49 and (x+y)? = 169 then find (4xy) = ?
(1) 30 (2) 60
(3) 90 4) 120

All the vertices of a triangle are on the circumference of the circle at equal
distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm.
3) 21 cm. (4) 28 cm.
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54.

5S.

56.

57.

S8.

(16xy+4y2+16x2> L@y tan]
[ (16X2 _ 4y2) ’ (4X - 2)/) = 087
(H 1 2 0
(3) 2y + 4x 4) 4x - 2y

a5 M G305, IBCRPSE HOXC0 Bws, ghwo 4000 &od. DR (DS gHRO (DD
e8 g0WVOSV0E VSTY  &030 (1O |BEHPTS 8900 1©). o 2008 o000 [0

DovgEm S0 DM WE) B0 SeRes K8 doem 80 . %0, D08 Py S08?

(1) 256000 (2) 160000
(3) 512000 (4) 128000

mgssé a’gg@esﬁ oIl FelI8 5 &%0,% 9700 rrarahen Do) BVTS RO Woe Tee!D
ROSE T BETRS OB NS @2",)@065 0B L) 2% Q0SB0 BLOES OO

ééé&n D0 0T, €06008.

(1) 8% 2) 5%
3) 3% 4) 2.5%

(x—y)? = 49 oo (x+7)? = 169 eowss® (4xy) = dos ?
(1) 30 (2) 60
(3) 90 4) 120

85 (Dgheso Ados, ), BYDOPED HE DOPP HDORLO DIT (TS aTeo0. P8
%gaoocso@ 3308, Sr50 58 Zoicso #5008 14 20.8o. @0, ©ons |Beneso 3308, S0
S R, 20.80. &0e0d.

(1) 7 20.%. (2) 14 20.80.

(3) 21 2o.bo. (4) 28 20.5.
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59.

60.

61.

62.

63.

Which of the two alternative expressions from the given are perfect squares?
1) (¥ -2 + x7?) (2) (4m? — 16n% — 16)
(3) (25p% + 36q% — 30pq) (4) (64ab + 64a% + 16b2)

What will be the eighth odd number after the even number (3x — 5) ?

(1) (Bx - 22) 2) (Bx - 13)

3) (Bx + 10) 4 (@Bx +3)

While selling an article, if Raghav increased its selling price by Rs. 384 he

will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) ¥ 19200 (2) % 12800
(3) I 7680 (4) < 4800
Two triangles are formed by diagonal BD A

of kite ABCD as shown in the figure.
Which test from the following is not

applicable for proving these two triangles B E N D
congruent?

(1) S-A-S

(2) S-S-S C

3) A-S-A

(4) Hypotenuse-side

Rafiq has Rs. 28,500 with him in the form of some I 2000 notes and some
% 500 notes only. Which of the following could be the number of ¥ 500 notes?

(1) 57 (2) 25
(3) 23 @ 11
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59.

60.

61.

62.

63.

80® PSS O Bow DTODINVOSER) BSFHBVED VoY SO 102

1 (2 -2+x? (2) (4m? - 16n% — 16)

(3) (25p% + 36¢% — 30pq) (4) (64ab + 64a% + 16b2)

(3x — 5) 8 D0 Doz SRS SOHIE Sy HVAES BD WO ID?

(1) (Bx —22) 2) (Gx - 13)

(3) (Bx + 10) 4 (Gx + 3)

TR0 88 SN ATYE S do 384 craromen o, @D, 3% SHo

3001 508 5% eweso 558)‘308). LoV SN VI I DA, BP0 €080008 ?

(1) 19200 (2) 12800
(3) 7680 (4) 4800
505, [JABCD m®%eo aios, sgo BD A

SOF UG B0 |BgHered O VADS0 (D550

DOPSTHE0 5. B =i D
(1) &n-8%-gn

(2) eo-go-gp C

(3) &i_gp-gt

(4) sgo goeso
50 ¢ 28500 srdronen ame00. ©BG 55§, BokBed oo §R), HMS0EeD Bee

3800 550@ Sﬁe\}g &@&5, BE0S0EL  TIPPOHS 5563 Do o0& 53063650 A, BOLESTI?

(1) 57 (2) 25
(3) 23 4 11
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64.

65.

66.

67.

68.

If 1 ~75 = 35 then ‘k> = ?
(1) 92 ) V16
3) 16 4 9

Area of the square hall with height 4 m. is 49 sq.m. What will be the total
cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300

per sq.m.?
(1) 11200 (2) 74000
(3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the
percentage loss to the seller?

(1) 20 2) 25

(3) 12.5 @ 1%

The conical tent with height 21 m. has base circumference 176 m. How much
air (in cubic m.) can be contained in that tent?

(1) 17248 (2) 2464

(3) 7840 (4) 15680
How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350

with 3% commission?
(1) 95 (2) 90
(3) 81 4) 87
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64.

65.

66.

67.

68.

4/1—%2% @530 k> = dos ?
(1) 92 2) 16

3) 16 4 9
oD ALY WO 85 BEOTRPE DeRiEpro Aws, e 49 $5.80. e, e
Degrryro a3s, e, FOEOB) 5o SATOLB (D SE0R) Doersd 300 srsroHe DD S

D0 POy S0 ?
(1) 11200 (2) 74000
(3) 33600 (4) 42000

SHOH Te0ID Ben @YD BO Mo BHVTOS DEBH $OAD FF FBO 0B ?

(1) 20 @) 25
3) 125 @ 17
&5 B0g0) e5d o & 2180, eod. grse D29 176 . @od. @aws es grd

D@0 I, P Aoy ™D DER?
(1) 17248 (2) 2464
(3) 7840 (4) 15680

6853 500 or. Deods 16, E%oAten DS, D8 3% $erdS @men 46350

GPERODED PI)) D08, OIS 330 N, E9:50f %0 D0 ?
(1) 95 2) 90 '
(3) 8l 4) 87
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69. A side of a square is congruent to the 30 cm. diagonal of second square. Select
an incorrect alternative from the given, for the relation between the areas of
two squares.

(1) Areas of both the squares are not equal.

(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.

(4) Area of the second square is less by 450 sq.m. than the area of the first
square.

70. In the adjoining circle with centre C, P

m/PRS = 55° ; then m/PSQ = ?

(1) 55°

2) 40°

(3) 45°

@) 35° R S

71.  An obtuse angle is formed between the hour hand and minute hand of a clock.
Which two alternatives from the following will correctly represent the possible time?
(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

72.  Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What
will be the area in sq.cm. of that rhombus?
(1) 768 (2) 384
(3) 192 4) 96

73.  After reading 3 g, part and 68 pages of a book, 92 pages are still remaining.
What is the total number of pages of that book?
(1) 360 (2) 280
(3) 153 4) 117
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69.

70.

71.

72.

73.

2.8 SO0 ghes0, BoES FETwo B0E, 30 20.80. Sodne EHOE DOGSPIE0 SO,
WOS €8 8oL HETRP® JTO0L D00POD VOTR) DSes (3°80) S0 RS D).

(1) Bowo SEORPe BTPO000 DEFESFPHO 5.

(2) Bows ©eBRo A0S, BT, B0GE SEOR JTee®8 Jrio B 000D,
(3) Dooesd BB BE, BT 306S @eR50E 900 5.20.80. S €0EVOAD.
(4) Bows HBoBEO A0S, T 068 @R 508 450 5.20.80. BD €od.

055505, De0sd ‘C” Boso 1o &,BS0S?, P
mZPRS = 55° e0055° mAPSQ = os?

(1) 55°

) 40°

(3) 45° R S
4) 35°

$EOIPE0SD oese 5000y $0OATD AN &Y &0 P §%0 DT,EE0D. Q083
PESOODORO WFDOD B0 HTEDoe Bod &SSO ?

(1) 1:20 ro. (2) 11:40 ro.

(3) 4:05 ro. (4) 8:55 ro.

20 0.8, epesorio HoreHes SISV RO Sose NG 3:4. @od. 0nS e
SETWO B0, FFPO0 IV, ©.20.80. 00D ?

(1) 768 (2) 384

() 192 4) 96

&8 YPS0 GINE, % g0 000 68 HRen [OVS Soaes 92 vBen rvenseon.
©ONS €3 YIS 3o AR, vReo 1O ?

(1) 360 (2) 280

(3) 153 4 117
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Q.74 and 75 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIIL
Below given joint bar diagram is representing attendance of the students
Standardwise. Observe the graph and answer the questions.

5 R

Scale : on Y - axis
1 cm. =2 boys / girls

........................................

8 e
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74. By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2) 2
3) 20 4 25

75. By considering attendance of both boy’s and girl’s, which standard has the
least attendance?

(1) Eighth (2) Seventh
(3) Fifth (4) Sixth
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74.

75.

DRES BONBER) eret GHYD (%) 508 erd5e @I FBO 0B 5D G0 ?
() 10 2) 2
3) 20 4) 2.5
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